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The system of equations
1 {2){ + dy = 20
4x — y = 13 xf',y

is a system of two equations in the two variables . To determine whether (7, —3) is a solution of this system,

we check whether x = 7 and y = —3 satisfy each in the system. Which of the following are solutions of this
system? (Select all that apply.) £ un‘ll'i'h—
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The following is a system of two linear equations in two variables.

3 {x+ y =5
2x + 2y = 10

The graph of the first equation is the same as the graph of the second equation, so the system has
|-—-Select— v | . We express these solutions by writing

x =t \'7 ':A-‘-‘-'--"--% e ay 5‘0’-—."1'6"-5
y= §-t
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Use the substitution method to find all solutions of the system of equations.
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Graph the linear system, either by hand or using a graphing device.
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Use the elimination method to find all solutions of the system of equations.

e‘{drx + 4y = 36 -2€l -8¥ -84y = -32
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Graph the linear system, either by hand or using a graphing device.
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Graph the linear system, either by hand or using a graphing device.

{4x+6y

—bx — 9y

te.

@
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Graph the linear system, either by hand or using a graphing device.
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Solve the system, or show that it has no solution. (If there is no solution, enter NO SOLUTION. If there are an infinite
number of solutions, enter the general solution in terms of x, where x is any real number.)
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Use a graphing device to graph both lines in the same viewing rectangle. (Note that you must solve for y in terms of x
17 before graphing if you are using a graphing calculator.) Solve the system either by zooming in and using |TRACE| or by

using Intersect. Round your answers to two decimals.
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Use a graphing device to graph both lines in the same viewing rectangle. (Note that you must solve for v in terms of x
before graphing if you are using a graphing calculator.) Solve the system either by zooming in and using |TRACE| or by

using Intersect. Round your answers to two decimals.
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19 The sum of two numbers is twice their difference. The la rger number is 7 more than twice the smaller. Find the numbers,
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The admission fee at an amusement park is $1.50 for children and $4.00 for adults. On a certain day, 2,900 people entered
the park, and the admission fees that were collected totaled $6,100. How many children and how many adults were
admitted?
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A chemist has two large containers of sulfuric acid solution, with different concentrations of acid in each container. Blending
23 200 mL of the first solution and 700 mL of the second gives a mixture that is 14% acid, whereas blending 100 mL of the

first mixed with 300 mL of the second gives a 14 l% acid mixture. What are the concentrations of sulfuric acid in the
original containers? 2
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24 A biolagist has two brine solutions, one containing 8% salt and another containing 32% salt. How many
solution should she mix to obtain 1 L of a solution that contains 22.4% salt?
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25 A woman invests a total of $20,000 in two accounts, one paying 3.5% and the other paying 7% simple interest per year.
>imp e LSles
Her annual interest is $910. How much did she invest at each rate?
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